E-Revo Brushless (5608) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Beaings & Bushings

4609 Ball bearings (5x10x4mm) (2) (metal shielded)..........cccccrierrunnnns
4611 Ball bearings (5x11x4mm) (2) (metal shielded)
5119 Ball bearings, blue rubber sealed (10x15x4mm) (2)
5120 Ball bearings, blue rubber sealed (12x18x4mm) (2)
5115 Ball bearings, blue rubber sealed (5x10x4mm) (2) ..
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2
5114 Ball bearings, blue rubber sealed (5x8x2.5mm) (2)
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2)
5180 Ball bearings, blue rubber sealed (6x13x5mm) (2)
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2) ..
5121 Bearing, needle roIIer (6x10x8mm)( ) ......
2545 Bushings (plastic 5S5mm) (4) .

1926 Antenna caps, vinyl (2)/ antenna spool -
5526 Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools ....
1726 Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) ................
1834 Body clips (12) (standard size)
3934 Body clips, heavy duty (12)
5314 Body mounts, front & rear/ body mount posts, front & rear/
2.5x18mm screw pins (4)/ 4x10mm BCS (1)
4915 Body washers, foam adhesive (10)
5611 Body, E-Revo (clear, requires painting)/window, grill, I|ghts decal
SNEEL ...
5611X Body, E-Revo, ProGraphix (replacement for painted body.
Graphics are painted- requires paint and final color application)/
window, grill, lights decal sheet ...,
2514 Decal sheet, racing SPONSOrS........ccccciiiirrrirrisss st
5613 Decal sheets, E-REVO ........cooueeeieiiieeeeeeeeeeeeeeee e
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)
5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels) ...
4974 Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4) ........
5473 Wheelie bar mount (1)(fits 1/10 scale Revo trucks)...........ccceeueee.
5472 Wheelie bar, assembled (fits all 1/10th scale Revo trucks).........
4976 Wheels (4)/ Axles (2), for wheelie bar ..........cccoceriiiiirnicnicceccinnnns
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2)
5186 Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2).....
5413 Wing mount, center / wing washers (for Revo
5411 Wing mount, Revo (complete minus wing, part #5412 or other)........
5446 Wing, Revo (black)/ decal sheet
5446G Wing, Revo (Exo-Carbon finish)/ decal sheet
5412 Wing. Revo (white)/ decal sheet..

Bunpess & Skidphtes
5335A Bumper, front (chrome)/ bumper mount, front/ 4x10mm

BCS (2)/ 3x25mm BCS (2) ..ceverurrrcnrrnessssssnssssssssssssssessssssnns
5335 Bumper, front/ bumper mount, front/ 4x10mm BCS (2)/

3x25mm BCS (2) .
5336A Bumper, rear (chrome)/ bumper mount, rear/ 4x10mm

BCS (2)/ 3x25mm BCS (2) ...ceeccrurrrcnrrnessssssssssssss s sssssssessssssnns
5336 Bumper, rear/ bumper mount, rear/ 4x10mm BCS (2)/ 3x25mm

BCS (2)...... .
5335X Bumpers, front and rear (black chrome)
5315 Guards, steering servo (2)....
5337 Skid plate set, front (2 pieces, plastic

plastic)
5637 Skidplate. transmission, nylon (black)/ cover..

)

/ skid plate, rear (1 piece,

Chasis & Attachnens

5314 Body mounts, front & rear/ body mount posts, front & rear/
2.5x18mm screw pins (4)/ 4x10mm BCS (1) ...ccoviiieiiiiiieiieeiceen,
5624 Box, receiver (sealed)/ foam pad/ silicone grease/ 3x8mm
BCS (2)/ 2.5x8mm CS (2)/ 3x6MmM BCS (2) ..c.covvvvereiiricieineeenne
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum) ................
5330 Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4) .
5329 Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (4)
5622X Chassis, E-Revo & Summit/ foam pad ...........cccoeeiieniiiiiiiiecieeen.
5157 Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover)...
5627 Door, battery compartment (1) (fits right or left side)...
5315 Guards, steering servo (2)
5626 Hold down bracket, electronic speed control (Castle Creations
Mamba Monster brushless system)...........cccocveieiniiiieene e,

For assistance call (07)31033011, or e-mail sales@rcma.com.au

5629 Retainer clip, battery (1)/ front clip (1) /rear clip (1)/ foam

spacer (1) (for one battery compartment)...........cccocceeiieiiieiicnieennen.
5625 Seal kit, receiver box (includes o-ring, seals, and silicone grease)....
5317 Shock mounts (front & rear)/ wire clip (1)/ chassis wire clips (4)/

3x32mm CS (4)/ 3x6mm BCS (1)
5337 Skid plate set, front (2 pieces, plastic)/ skid plate rear (1 piece,

PlASHIC) et
5637 Skidplate, transmission, nylon (black)/ cover
5185 Tires, rubber (2) (fits Traxxas wheelie bar wheels)
5628 Vent, battery compartment (includes latch) (1 pair, fits left or right

4974 Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4).
5473 Wheelie bar mount (1)(fits 1/10 scale Revo trucks)........
5472 Wheelie bar, assembled (fits all 1/10th scale Revo trucks)..........
4976 Wheels (4)/ Axles (2), for Maxx wheelie bar ..........ccceoeriiniicerrcnnnne
5186A Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2) .........cccuveerrvriiernsniisesssnnns
5186 Wheels, aluminum (red-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)

5119 Ball bearings, blue rubber sealed (10x15x4mm) (2)......c.cccceeeerveenneen.
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2)
5118 Ball bearings, blue rubber sealed (8x16x5mm) (2) ....
3978 Carrier, differential (heavy duty)/ x-ring gaskets (2)/ ring gear
gasket/ bushings (2)/ 6x10X0.5 TW .....ccoiiiiiiiiiiieieeee e
5614 Differential kit, center (complete for E-Revo & E-Maxx (model
3905)) (assembled with 500K oil) (use only with single speed
transmission)........
5136X Differential oil kit (1 each: 10K, 30K, 50K weights) .............c........
5382X Gear set, differential (output gears (2)/ spider gears (2)/ spider
gear shaft/ diff carrier support)
5380 Housings, differential (front & rear) (1) ...
5130 Oil, differential (100K weight) (.7 0z (20CC)) ......cccerrrrrerrserrssersaens
5135 Oil, differential (10K weight).........cccoooeriiiriiiniineeeee
5136 Oil, differential (30K weight)
5039 Oil, differential (500K weight) . .
5137 Oil, differential (50K weight)........cccoooiriiiiiiiniicereee
5379X Ring gear, differential/ pinion gear, differential ..............cccoooiniieninne
5381X Spool, differential (eliminates differential. Use off-road
only) (requires #5379X ring gear)

5334R Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust

boot retainers (4)
5459 Boots, driveshaft (rubber) (2)..
5153R Drive cups, inner (2) Revo (steel constant-velocity
driveshafts)/screw pin, M4/15(2) (for use only with 5333R
adjustable wheelbase rear suspension arms)..........ccoccevvieinienninens
5153 Drive cups, inner (2) Revo/Maxx (steel constant-velocity
driveshafts)/screw pin, M4/15(2) .......ccccvierrimmninnnennienssesnee s
5451X Driveshaft assembly (1), left or right (fully assembled, ready to
install)/ 4x15mm screw pin (1)....
5154 Driveshaft, steel constant-velocity, Revo/Maxx (shaft only,
128.5mm)/ drive cup pin (1) ......... -
5650R Driveshafts, center E-Revo (steel constant-velocity) front (1)/
rear (1) (assembled with inner and outer dust boots, for E-
Revo & Summit)........
5451R Driveshafts, Revo/Maxx (steel constant-veIomty)(assembled
w/inner & outer dust boots) (for models w/sealed pivot ball
suspension & 3.8" wheels)(4).....
5150  E-clips, 1.5MM (24) ...ocoiiiiiiitiieiee ettt
5450 Half shaft set, left or right (plastic parts only) (internal splined half
shaft/ external splined half shaft/ rubber boot) (assembled with
glued boot) (2 asSeMDIIES) ........ceeiiiiiiiiiiieeeee s .
5650 Half shafts, center (internal splined (3)/ external
splined (2)) (plastic parts only) .........cceeeeiieriiinieeeeeeeee e,
4955  Pins, axle (2.5X12MmM) (4) «oueiiiiee e
5129 Rebuild kit (for Revo/Maxx steel constant-velocity
driveshafts) (includes pins, dustboots, & lube for 2
driveshafts assemblies)....
5145 Screw pin, 4x15mm (6)..
5454  Stub axle (steel) (2)....
5166 Stub axle, (1)/ axle sleeve (1) Revo/Maxx (steel constant-
velocity driveshaft)
5452 U-joints, driveshaft (carrier (4)/ 4.5mm cross pin (4)/ 3mm cross
pin (4)/ e-clips (20)) (metal parts for 2 driveshafts).
4954R Wheel hubs, hex (steel)

REV. 110301 1055



Page 2 E-Revo Brushless with TQ 2.4GHz Traxxas Link Radio (5608) Parts List

4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

pins (2.5x10mm) (4) .......
5458X Yokes, differential and transmission (2)/ 4x15mm screw pins (2) .....
5453 Yokes. stub axle (2)/ pins

5334R Axle carriers, left & right (1 each) (use with larger 6x13mm ball

bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust

boot retainers (4)
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum) ....
5330 Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4) ...........
5134 Caster spacers (4)/ Shims (4) ..ccc.oeieiiiiiiiie e
5339 Insert, threaded steel (replacement inserts for

Tubes) (includes (1) left and (1) right threaded insert) ................
5495 Linkage, front sway bar (Revo/Slayer) (3x70mm

turnbuckle) (2) (assembled with rod ends, hollow balls and

ball stud)

5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/
dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

4933
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball
cap bushings (4)
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use
with #5359 progressive 3 rockers)......
5318X Push rod (aluminum) (assembled with rod ends) (2) (use W|th
long travel or #5357 progressive-1 rockers) .........ccccvvmrierrienins
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use
with #5359 progressive 3 rockers).........
5318 Push rod (steel) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 rockers)
5354X Rocker arm post (aluminum) (4)
5354 Rocker arm post (Steel) (2) .....eeeiueeieeiiiiiieeee e
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X

[ TUE] T oo ) SRS
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or
#5318X pushrod) ...

5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8) ...

5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part
#5319 or 5319X)..
5133A Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8)....
5133 Spacer, pushrod (aluminum, red) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8)........ccceovrerrruriiuennns
5332 Suspension arm upper (1)/ suspension arm lower (1) (left front) ......
5331 Suspension arms upper (1)/ suspension arm lower (1) (right front) ..
5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),
BXA0MIM (2) ettt ettt as
5498 Sway bar kit, Revo (front and rear) (includes thick and thin
sway bars and adjustable linkage) (requires part #5411 to
install rear bumper) ..
5496 Sway bar mounts (front & rear) (Revo)/ sway bar wires (front
& rear) (4)/ drill guide/ spacers.........
5338 Toe link, 5.0mm steel (front or rear) (2) .......ccceeoeviieeiiiiiienieeeeee
5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits
front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/
wrench (1)

5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (128mm, fits front or rear) (2)/ rod

1834 Body clips (12) (standard size)......
3934 Body clips, heavy duty (12)......ccceiiiiiiiiiieeie e
3182 Collars, screw (2)/ set screws, 3mm (2)
5150 E-clips, 1.5mm (24)
5477 Flat wrench, 5mm (blue-anodized aluminum)....
5478 Flat wrench, 8mm (blue-anodized aluminum)...
3980 Glow plug wrench (universal wrench)
2586 Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

5475 Multi-tool (plastic)
5158 Nuts, 2.5mm nylon locking (12)
2745 Nuts, 3mm nylon locking (12) ............
4147X Nuts, 5mm flanged nylon locking (aluminum, blue-
anodized) (4).......
5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8)
4147 Nuts, 5mm nylon locking (8)
4987 Rings, retainer (snap rings) (14mm) (2)....
5144 Screw pin, 2.5x18mm (6)...
5145 Screw pin, 4x15mm (6)

3236
3215
3965
5169
2674
2577
2587
3159

2551
5282

2578
2552
2579
5142

2553
2580
4978

2581
3963

2582
3964
2575
2554
2576
3936
3937
3938
3933
3940

3939
4897
2743
3966
5133A
5133

3982

3062

3061

2930
5626

5661

5660
3080
3070
3060

Screws, 2.5x12mm cap-head machine (6).........ccceeeevieiiiiiiccnennen.
Screws, 2.5x6mm cap-head machine (hex drive) (6)
Screws, 2.5x8mm cap-head machine (6)............
Screws, 2.6x8mm countersunk machine (6) .
Screws, 2x6mm roundhead self-tapping (6)
Screws, 3x10mm button-head machine (hex drive) (6)
Screws, 3x10mm cap-head machine (6) (no washer)............ccccc......
Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ hex wrench ..
Screws, 3x10mm countersunk machlne (6) (hex drive)
Screws, 3x12mm button-head machine (6) (starter attachment
screws with Threadlock)
Screws, 3x12mm button-head machine (hex drive) (6).
Screws, 3x12mm countersunk machine (6) (hex drive)
Screws, 3x15mm button-head machine (hex drive) (6)..........cccc.c......
Screws, 3x15mm cap-head machine (hex drive) (with split and flat
WASHETS) (B)..uteetiieiieiiie ettt ettt
Screws, 3x15mm countersunk machine (6) (hex drive)
Screws, 3x20mm button-head machine (hex drive) (6)
Screws, 3x21mm button-head machine (hex drive) (partially
threaded, Revo brake bolts) (6)
Screws, 3x25mm button-head machine (hex drive) (6)
Screws, 3x28mm cap-head machine (hex drive) (6)/ 3x6mm
ELW (6)
Screws, 3x30mm button-head machine (hex drive) (6)
Screws, 3x32mm cap-head machine (hex drive) (6)
Screws, 3x6mm button-head machine (hex drive) (6)
Screws, 3x6mm cap-head machine (hex drive) (6)
Screws, 3x8mm button-head machine (hex drive) (6)...
Screws, 4x10mm button-head machine (hex drive) (6).
Screws, 4x12mm button-head machine (hex drive) (6)....
Screws, 4x14mm button-head machine (hex drive) (6)
Screws, 4x16mm button-head machine (hex drive) (6)..........ccccc......
Screws, 4x4mm button-head machine, aluminum (blue) (hex

Lo LAY () SR UR RS
Screws, 4x6mm button-head machine (hex drive) (with

threadlock) (6)
Screws, set (grub) 4mm (6) (with threadlock)
Set (grub) screws, 3mm hardened (12)
Shoulder screws, 3x10mm (6) (with threadlock) ....
Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8).......cccceuveerierieeneenniens
Spacer, pushrod (aluminum, red) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8). -
Washer, PTFE 6x8x0.5 . $1.25

Adapter, Traxxas connector female to Molex male (1) (Note:
Molex connector not suitable for high current use)...........ccccceu..
Adapter, Traxxas connector male to Molex female (1) (Note:
Molex connector not suitable for high current use)...........ccocueuu.
Charger, EZ-Peak AC/DC, 4 amp
Hold down bracket, electronic speed control (Castle Creations
Mamba Monster brushless System)...........ccccovoeeeieinieiiiniiciiienee
Motor mount hinge post/ 4x12mm BCS (1)/ 4x10mm CS with split
and flat washer (1) .
Motor mount, finned aluminum ..
Traxxas Connector (female) (2)....
Traxxas Connector (male) (2)
Traxxas Connector (male/female

Radb System llaIEIIES & chamger ]

5526
1726
2922
2923
2940
2950
2734
2927
2064
2072
2218X
2074
2063
2075
2065
2209

2238

Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools .....
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) .................
Battery, Power Cell, 3000mAh (NiMH, 6-C flat, 7.2V)
Battery, Power Cell, 3000mAh (NiMH, 7-C flat, 8.4V) .
Battery, Series 3 Power Cell, 3300mAh (NiMH, 7-C flat, 8.4V).....
Battery, Series 4 Power Cell, 4200mAh (NiMH, 7-C flat, 8.4V).....
Cable ties (SMAl) (10) oo e
Charger, A/C, 350 mA (7 cell, NiMH) .....
Gear set (for 2065 waterproof sub-micro servo)
Gears set (for 2070, 2075 servos).......
Receiver, micro TQ 2.4 GHz with Traxxas Link (5-channel ..
Servo case/gaskets (for 2056 and 2075 waterproof servos)..............
Servo case/gaskets (for 2065 waterproof sub-micro servo)...
Servo, digital high-torque (ball bearing), waterproof
Servo, sub-micro, waterproof.......
TQ 2.4 GHz High Output radio system with Traxxas Link, 2-
Channel (2-ch. transmitter & 5-ch. micro receiver) ..........cccceeu.
Transmitter, TQ 2.4GHz High Output with Traxxas Link, 2-channel
high-output (transmitter Only)...........ccoooeiiiiiiie e

REV. 110301 1055



Page 3 E-Revo Brushless with TQ 2.4GHz Traxxas Link Radio (5608) Parts List

Readyto-Race Model SipperCliich Conponens

5334 Axle carriers, left & right (1 each)
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum) ... .
5329 Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (4) .
5134 Caster spacers (4)/ Shims (4) ..ccc.ooieiiiiiiiiie e
5339 Insert, threaded steel (replacement inserts for

Tubes) (includes (1) left and (1) right threaded insert) ....
5497 Linkage, rear sway bar (Revo/Slayer) (3x50mm

turnbuckle) (2) (assembled with rod ends, hollow balls and

ball stud)..

5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/
dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

4933 Pivot balls (4)/ pivot ball cap bushings (4)
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball
cap bushings (4) ...
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use
with #5359 progressive 3 rockers).........cocverrininessnnisesssnsseens
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with
long travel or #5357 progressive-1 rockers) .........ccccvvmnverrieninns
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use
with #5359 progressive 3 rockers)
5318 Push rod (steel) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 roCKers) ........ccccoeveerveeeneeseeeneeseeennen.
5354X Rocker arm post (aluminum) (4)
5354 Rocker arm post (Steel) (2) ......eeiueiiieiiiiiieeie e
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X
[ 10T T oo ) O RURUSRT
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or
#5318X pushrod)......... .
5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8)...
5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part
#5319 or 5319X)..
5348 Rod ends, Revo (large, for rear toe link only) (4).......cccocoeiiiiiienienne
5133A Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8)........cccocveveeriieenieeninens
5133 Spacer, pushrod (aluminum, red) (use with 5318 or 5318X
pushrod and 5358 progressive 2 rockers) (8)...
5333R Suspension arm set, adjustable wheelbase (lengthens
wheelbase 10mm or 19mm) (suspension arm upper (2)/
suspension arm lower (2)/ bumper mount spacers (2)/
4x16BCS (2))
5333 Suspension arm upper (1)/ suspension arm lower (1) (rear, left or

5328 Suspension arms, adjustable wheelbase left side (upper

arm (1)/ lower arm (1)) c.cooceieerrrrieer s
5327 Suspension arms, adjustable wheelbase right side (upper

arm (1)/ lower arm (1)) c.coocceicerrsnierr s
5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),

3x40mm (2)
5498 Sway bar kit, Revo (front and rear) (includes thick and thin

sway bars and adjustable linkage) (requires part #5411 to

install rear BUMPEr) ... s
5496 Sway bar mounts (front & rear) (Revo)/ sway bar wires (front

& rear) (4)/ drill guide/ SPACErS ........ccciviirreririrrer e
5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits

front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/

WIENCH (1) ettt

5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (1 28mm flts front or rear) (2)/ rod

SIIIII:I(S[G'I'B]

5466X Body, GTR shock (hard-anodized, PTFE-coated aluminum) (1) ......
5465 Caps and spring retainers, GTR shock (upper cap (2)/ hollow
balls (2)/ bottom cap (2)/ upper retainer (2)/ lower retainer (2)).........
5475 Multi-tool (plastic)
5158 Nuts, 2.5mm nylon locking (12)
5462 Rebuild kit, GTR shock (x-rings, bump stops, bladders, all pistons,
piston nuts, shock rod ends) renews 2 shocks
5469 Rod ends (GTR shocks) (6)...............
5463T Shaft, GTR shock TiN-coated (2)
5460X Shocks, GTR hard-anodized, PTFE-coated aluminum bodies with
TiN shafts (fully assembled w/o springs) (4)
1666 Silicone shock oil (30 wt)
5461 Variable damping kit, GTR shocks (includes #1, #2 #3
pistons and stainless steel valves)............cccceeuueee.

5478 Flat wrench, 8mm (blue-anodized aluminum)
3992 Input shaft/ drive gear assembly (18-tooth steel top gear) ...............
5352R Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum

friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm pin/

5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) woeoeiiiiiieneecneeeee
5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/

spring (2)/ 2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm

A L )

2554 Screws, 3x6mm cap-head machine (hex drive) (6).........cccccveveernenne
5351 Slipper pressure plateandhub(@lloy).....ooooeeeeeeeeeeenneeeeeeee

5435 Spring, shock (red) (GTR) (2.6 rate yellow) (1 pair)..
5436 Spring, shock (red) (GTR) (2.9 rate white) (1 pair)........
5437 Spring, shock (red) (GTR) (3.2 rate orange) (1 pair)
5438 Spring, shock (red) (GTR) (3.5 rate green) (1 pair)
5439 Spring, shock (red) (GTR) (3.8 rate gold) (1 pair) ..
5440 Spring, shock (red) (GTR) (4.1 rate tan) (1 pair) .
5441 Spring, shock (red) (GTR) (4.4 rate black) (1 pair)....
5442  Spring, shock (red) (GTR) (4.9 rate silver) (std. front 120mm) (1

2= 1 ISP SUPRN
5444  Spring, shock (red) (GTR) (5.9 rate blue) (std. rear 120mm) (1

2 11 SO UPTSURTRN
5445 Sprlng, shock (red) (GTR) (6 4 rate purple) (1 pair)..
5443 Spr; hock 54

SIIIII'GIHIB & PIIIIII Geals

5640 Gear, 14-T pinion (0.8 metric pitch, compatible with 32-

pitch) (fits 5Smm shaft)/ set screw.........cccocriiciiicriccinscrcieee
5644 Gear, 18-T pinion (0.8 metric pitch, compatible with 32-

pitch) (hardened steel) (fits 5mm shaft)/ set screw
2554 Screws, 3x6mm cap-head machine (hex drive) (6)....
3956 Spur gear, 54-tooth (0.8 metric pitch, compatible with 32-

PItCN) e ———————————
3957 Spur gear, 56-tooth (0.8 metric pitch, compatible with 32-

PIECN) e ———————————
3958 Spur gear, 58-tooth (0.8 metric pitch, compatible with 32-

PItCN) e ———————————
3959 Spur gear, 62-tooth (0.8 metric pitch, compatible with 32-

PIECN) e —————————————
3960 Spur gear, 65-tooth (0.8 metric pitch, compatible with 32-pitch)
3961 Spur gear, 68-tooth (0.8 metric pitch, compatible with 32-

pitch

5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/
tall offset hollow ball (2)/ bump steer adjustment shims;
3.5mMm (2), 1.17MM (2) oo

5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 1.17mMmM (2)..cccceiiieniiiiieieeeereeeen,
5343X Mount, steering arm/ steering stops (2) (lower hinge pin

retainer) (includes standard and maximum throw steering stops)......
5469 Rod ends (GTR ShOCKS) (B).....cciueerueeiiiiiiiiiieiie e
5347 Rod ends, Revo (large) with hollow balls (12).........ccccoeeiiiiiiiieniene
5349 Rod ends, small, with hollow balls (6) (for Revo steering linkage) .....
5345X Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, Airtronics)).........ccceeeerrmrnnerrnnnnssessssnnseessannns
5345R Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow

DAIIS (4) ...t
5344X Servo saver spring, heavy duty (for use with metal-gear

L= =
2075 Servo, digital high-torque (ball bearing), waterproof.
5338 Toe link, 5.0mm steel (front or rear) (2)

5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/ tall
offset hollow ball (2)/ bump steer adjustment shims; 3.5mm (2),
1.17mm (2) ...
5355 Hollow ball, taII centered (2)/ tall offset hollow ball (2)/ bump steer
adjustment shims; 3.5mm (2), 1.17mMmM (2)..cccceiiiiniiiieiieeeereeeen,
5339 Insert, threaded steel (replacement inserts for
Tubes) (includes (1) left and (1) right threaded insert) .......................
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use
with #5359 progressive 3 rockers).......
5318X Push rod (aluminum) (assembled with rod ends) (2) (use W|th
long travel or #5357 progressive-1 rockers)...........ccceevrrerrininnnnnns
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use
with #5359 progressive 3 rockers).......
5318 Push rod (steel) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 rockers)....
5469 Rod ends (GTR shocks) (6)........cccceuennee
5347 Rod ends, Revo (large) with hollow balls (12)..

REV. 110301 1055



Page 4 E-Revo Brushless with TQ 2.4GHz Traxxas Link Radio (5608) Parts List

5348 Rod ends, Revo (large, for rear toe link only) (4).......cccoooveiiiniienens

5345R Servo horns, steering, long (2), short (2)/ linkage, steering (3x20mm
turnbuckle) (2)/ rod ends (short) (4)/ hollow balls (4).........ccccoeeieiirennnne.

5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),
3x40mm (2)

5338 Toe link, 5.0mm steel (front or rear) (2)

5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits
front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/
WIEENCH (1) i

5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (1 28mm fits front or rear) (2)/ rod
1

2514 Decal sheet, racing SPONSOrS........ccccciiiirrrirrisss s
6160X DVD, Maxx Power! Full Throttle Action (sleeve)...........ccccceeveeneennnen.
9914 Maxx Book (By AirAge Publishing) ........c.ccoooueeiiiiiiiiiiiiecie e
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)
9946 T-Shirt, Large, T-Maxx King of Monsters...........cccccceeiieiicineeniennen.
9945 T-Shirt, Med, T-Maxx King of Monsters
9947  T-Shirt, XL, T-Maxx King of Monsters
9948 T- Shirt XXL, T-Maxx King of Monsters
9949
9909

4147X Nuts, 5mm flanged nylon locking (aluminum, blue-
anodized) (4).....cccceermrricniinincncees
5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8) ....
4955 Pins, axle (2.5x12mm) (4)
5666 Sidewall protector, beadlock style (blue) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)..........cccccrvririrriiiinscrciniceenns
5667 Sidewall protector, beadlock style (red) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)....
5665 Sidewall protector, beadlock style (yellow) (2)/ 2.5x8mm
CS (24) (for use with Geode wheels)..........cccccrvrirrriiiiniesiiiceenns
5374A Tires & wheels, assembled, glued (Gemini black chrome
wheels, Talon tires, foam inserts) (2)...........ccceuce.
5374X Tires & wheels, assembled, glued (Gemini black chrome
wheels, Talon tires, foam inserts) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X).......c.cccevvrriminnrinniee s
5374 Tires & wheels, assembled, glued (Gemini chrome wheels,
Talon tires, foam inserts) (2) (also fits Maxx series) ........c..cceveueus
5674 Tires & wheels, assembled, glued (Geode chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (use with
17mm splined wheel hubs & nuts, part #5353X & beadlock-
style sidewall protectors, part #5665, 5666, 5667) ...............ccecueun
4973R Tires & wheels, assembled, glued (Hurricane chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (fits
Revo/Maxx series) ..
5174A Tires & wheels, assembled, glued (Split-Spoke satin-finish
wheels, Talon tires, foam inserts) (2) (fits Maxx w/sealed pivot
ball suspension & Revo)..........ccccuernuee.
4983A Tires & wheels, assembled, glued (SS (Split Spoke) black
chrome wheels, Maxx tires (6.3" outer diameter), foam
inserts) (2) (fits Maxx/Revo series) ......
5174 Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (fits Maxx/Revo series).....
5174R Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (use w/17mm splined
wheel hubs & nuts, part #5353X).......c.ccceevmrimiiiniinieeeens
5375R Tires & wheels, assembled, glued (white dished 3.8" wheels,
Response Pro tires, foam inserts) (2) (use with 17mm splined
wheel hubs and wheel nuts, part #5353X)..
5670 Tires, Canyon AT 3.8" (2)/ foam inserts (2) ...
4973 Tires, Maxx 3.8" (6.3" outer diameter (160mm)) (2) (fits
ReVO/MaXX SEFI€S) .....ccvrveerrurrrseesrrrssensssessses e ssaneas
5171 Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series) .........c.ceeue
5375 Tires, Response Pro 3.8" (soft-compound, narrow profile,
short knobby design)/ foam inserts (2) .......ccccceveinenninnienniennnnens
5471 Tires, Response racing 3.8" (soft-compound, narrow profile,
short knobby design)/ foam inserts (2)
5470 Tires, SportTraxx racing 3.8" (soft compound, directional and
asymmetrical tread design)/ foam inserts (2) ...
5370 Tires, Talon 3.8" (2)/ foam inserts (2)
4954R Wheel hubs, hex (steel)
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle
PINS (2.5X10MM) (4) .oueeiieiiiere e
5353X Wheel hubs, splined, 17mm (blue-anodized) (4)/ wheel nuts,
splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4)
5353 Wheel nuts, splined, 177mm (blue-anodized) (4)...
5371 Wheels, dished 3.8" (white) (2) (use with 177mm spllned wheel
hubs and wheel nuts, part #5353X).......ccccccvnerrinrierriniinns -

5372A Wheels, Gemini 3.8" (black chrome) (2)
5372X Wheels, Gemini 3.8" (black chrome) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X)
5372 Wheels, Gemini 3.8" (chrome) (2) (also fits Maxx series)..
5671 Wheels, Geode 3.8" (chrome) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X & beadlock-style sidewall
protectors, part #5665, 5666, 5667).............ccceerrrierrrrrininnsninnennens
5373 Wheels, Hurricane 3.8" (chrome) (2) (also fits Maxx series) ........
5172A Wheels, SS (split spoke) 3.8" (black chrome) (2) (use with
17mm splined wheel hubs & nuts, part #5353X) (fits
Revo/Maxx series) ...
5172X Wheels, SS (split spoke) 3.8" (chrome) (2) (fits Revo/Maxx senes)
5172R Wheels, SS (split spoke) 3.8" (chrome) (2) (use with 177mm
splined wheel hubs & nuts, part #5353X) (fits Revo/Maxx series) ..

5172 Wheels, SS (split spoke) 3.8" (satin) (2) (fits Revo/Maxx series) ..

Transnissbn Components

4614 Ball bearings (6x12x4mm) (2)
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2).
5157 Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover) ...................
5677 Cover, gear/ 3x8mm CS (1) .......
5677X Cover, gear/ 3x8mm CS (1) (for single motor installation, use with
mMotor plate #5690X) ......ccuuiiiiiiieeii e
3973 Gear set, close ratio (1st speed gear 21T, 18T input gear)...........
3974 Gear set, wide ratio (1st speed gear 26T, 13T input gear)............
3991X Gearbox halves (front & rear)/ shift detent ball/ spring/ 4mm GS/
shift shaft seal, glued/ 2.5x8mMm CS (2) ....ccceeiveiiieniiinieeieerieeeeen
3976 Idler gear, 13T (1st speed gear)
3996X Idler gear, 20-tooth/ idler gear shaft .. .
3992 Input shaft/ drive gear assembly (18- tooth steel top gear) ................
5668 Linkage, shift (includes: ball collar, spring, ball cup, servo
horn, linkage wire)/ shift servo mount/ 3x8mm BCS (2) ....
3984X Output gear, 33-tooth (1)/ Spacers (2)......ccceceereereeeieeneeannn. .
3985X Output gears, 33T (2)/ drive dog carrier/ output shaft spacer......
3969 Output shaft, transmisSSION .........ccccooiieiiiiiiiie e .
5690 Plate, motor
5690X Plate, motor (for single motor installation, use with gear cover #5677X)
3965 Screws, 2.5x8mm cap-head machine (6)
2552  Screws, 3x12mm countersunk machine (6) (hex drive)
3989X Shift fork/ shaft ..........ccceeeiiniini e ————
1647  SiliICONE GrEASE ....coueiiueieeiei ettt ettt snees
5692 Two speed conversion kit (E-Revo) (includes wide and close
ratio first gear sets, sub-micro servo, and linkage) (Requires
3 channel transmitter) .........ooooeeeeeiiiieieieieeieeeeeeeeee

Tumbuckies & Threaded rods

5477 Flat wrench, 5mm (blue-anodized aluminum) ..........ccccoooeiiiiiiennenne
5339 Insert, threaded steel (replacement inserts for
Tubes) (includes (1) left and (1) right threaded insert) .................
5341 Linkage, steering (Revo 3.3) (3x50mm Turnbuckle) (2)/ rod
ends (short) (4)/ hollow DallS (4) ......cceeeiueiieeiiiienieeee e
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use
with #5359 progressive 3 rockers)........ccocvnimiiernnninessnnisessnins
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with
long travel or #5357 progressive-1 rockers).........cccoccevvrrnerrieninnns
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use
with #5359 progressive 3 rockers)..........coovrrminesssssnsssssssssssseeens
5318 Push rod (steel) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 rockers)....
5338 Toe link, 5.0mm steel (front or rear) (2)..
5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits
front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/
WIEENCH (1)
5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (128mm, fits front or rear) (2)/ rod
ends, rear (4)/ rod ends, front (4)/ aluminum wrench (1) ..............

REV. 110301 1055





